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PARY T1ME DIPLOMA COURSE IN CME
FIRST SEMESTER EXAMINATION (Revised)
{(New Course)

APPLIED MATHEMATICS 1

Time : Three Hours Maximum Marks : 100

Note : (i) Attexupt total six questions. Question No.
i (objective type) is compulsory. From ..

the remaining questions attemnpt any five.
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If two coins are to.sed simultaneously,
What is the probability of getting 2 head
and a tail ? T ¢
afz ) foas W W ST S T UE T3 aik:
37 oy @ @ wRrar 3t 7

(¢) Find the median of  the following
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Cramer’s rule . 9
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(b} Solve the following equations :
(i) 2co§?@-—-Scos6+2=0 2
(1)) sin70 +sind48 +sinb =1
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(a) Calculate the arithmetic’ mean of the
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